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4 Sketch the graphs of the following with the help of your calculator:
[ byso 42 cy= o
"G YT E e YT E s 16

ay
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1 Sketch the graph of each of the following relations, showing all important features:

a(-2=x-3 b (+2P=x+d e y2=2r

d 2 =2+5) o (y-d4p =2x+3) £ a2

£ G+3P=2r-4 hy’-% i P edy=2x+4
P e6y-24320  kPiy-x=0 Iy 4+Ty—5x43=0
™=y nPedy_x=0

2 Sketch the graph of each of the following with the help of your calculator. (Instructions
are given in the calculator appendices of the Interactive Textbook.)
a )’ =—4(x+5) b P +2y+3c+12 c (=57

7-dx
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1 For each of the following rules, sketch the corresponding graph, giving the axis
intercepts when they exist, the set of x-values for which the rule is defined and the set of
y-values which the rule takes:

=2Vx+3 b
=VEEZel e

=Vit2+3 cy=Vi-2-3
Vx¥2+3 fy=2Viv2-3
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2 For cach of the following rules, sketch the corresponding graph, giving the axis
intercepts when they exist, the set of x-values for which the rule is defined and the set of

y-values which the rule takes:
ay=-ViT3+3 by=\-G-9-2 ]
=4\i-x-4

dy=23"x e y=-2y3-x
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3 For each of the following rules, sketch the corresponding graph, giving the
intercepts when they exist, the set of x-values for which the rule is defined and the set of
y-values which the rule takes:

ay=Vix b y=3G-1) cy=-—Vix
dy=y2G-x5 e y=-23C-0 fy=4yG-D-4

4 Sketch the graph of each of the following with the help of your calculator: E
[FiG+5) by=-V5-x-3 cy+6=2VI—4

ay
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1 Write down the equation of each of the following circles, with centre at C(h, k) and

radius r:

2 C00. r=3 b CO.0. r=4 e r=s

d co-4), r=3 o C(-3.4), ,=§ £ C(-5,-6), r=46
2 Find the centre, C, and the radius, r, of the following circles:

a Go1PsG-3R=4 b -2+ =S

c (x+3P+ (-2 =9 d (x+57+(-47=8

3 Sketch the graphs of each of the following:

acepo6t bR r(-4P=
c (x+2P 42 =25 d (1R + (- 42— 169 =0
o Qe3P +r-5=3% £S5 =36

4 Find the centre, C, and the radius, r, of the following circles:
a Piy—6y-1620 b Py 8xt 12y +1020
¢ PayoGrtdyr9=0 d Py oGy 1220
o Py -Sradyr1=0 Ry oxrdpr220

5 Sketch the graphs of each of the following:
e b=+ F cy=ViEFE
dy=—VB-¥ o x= YW ¥ fam By
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6 Sketch the graphs of cach of the following:
ay=36-(-2¢7 by-2=\i-(x+2¢

7 The graph of 2 + % < 9 is as shown. Note that (1, 1) satisfies
12+ 12 <9, The coordinates of every point in the shaded region
satisfy the inequality.

Sketch the graphs of each of the following. Use a dotted line to
indicate that the boundary s not included.

a+psa b 2+@>1 e Repss
d2+2>9 e 2426 f2ey<s
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Sketeh the graphs of each of the following with the help of your calculator. (Instructions g
are given in the caleulator appendices of the Interactive Textbook.)

a (x=3P+ -1y b (x-57+(y-27=4

o (x-2P4y=2 d2ey6y-16=0

e P+ edr-6y-3=0 £y —Bre22y 42720
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1 Sketch the graphs of the following, showing all important features of the graphs:
ay=t by=2
i+z

2 Write down the equations of the asymptotes for each of the graphs in Question 1.

3 a Wecanwritey ﬁs,:

ey

Skmchlhzg-phofy-ixmhe(mcd:emphofy=3x‘+€
b We can write y ﬁ:n 2(11” .

Sketch the graph of y = 5 and hence the graph of y = 5=
© Weeanwritey = 5 —asy = 2(1'—”)

‘Sketch the graph of y = zlxxm‘lhem:elheg:phofy 2;'[
d Wecan witey = 53— "’=2(xl+5)

Sketch the graph of y = - and hence the graph ofy = >—

ey
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Sketch the graphs of the following, showing all important features of the graphs:
1 -1

byttt et
-2 2
frematt gt

+land||awexkunhlhcgnph|ﬂy=i+—;

1 243
Stow that 52 = 42 and hence sketch the graph of y = 12
Show that 22 ! 7Zandl|mnexkunhlhcgnphlﬂy=37b,

T2 Txe

Sketch the graphs of the following with the help of your calculator:
4 3x+2 Sx+2

fres) 2 CYERT

by=
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1 Sketch the graphs of the following, showing all important features:
1 -1

by=g-4 ©YGy
1 =2
mert eyt

2 Write down the equations of the asymptotes for each of the graphs in Question 1.

N 1
3 Weamwiey = G T S

smh-heg-phm-#mm"‘g“*‘“y'ﬁ
b chmwﬁmy-ﬁ“’=4(x+2)f

smhmg-photy:%mm"‘w“”:ﬁ’
© We can write ﬁ"”’ﬁ‘

‘Sketeh the graph of y = %me‘w“yzﬁ’





